
Nombre: Clave De RespuestasUsando el valor posicional para resolver problemas

Matemáticas www.CommonCoreSheets.es 7 1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Respuestas

1. 1,000

2. 5,600

3. 10

4. 70

5. 10

6. 3,600

7. 10

8. 1,600

9. 80

10. 6,400

11. 600

12. 60

13. 20

14. 10

15. 60

16. 50

17. 1,200

18. 80

19. 3,500

20. 1,000

Resolver cada problema.

1) 50 × 20 =    1,000    

2) 70 × 80 =    5,600    

3) 500 ÷ 50 =      10     

4) 4,200 ÷ 60 =      70     

5) 200 ÷ 20 =      10     

6) 90 × 40 =    3,600    

7) 300 ÷ 30 =      10     

8) 80 × 20 =    1,600    

9) 4,000 ÷ 50 =      80     

10) 80 × 80 =    6,400    

11) 30 × 20 =     600     

12) 1,800 ÷ 30 =      60     

13) 800 ÷ 40 =      20     

14) 900 ÷ 90 =      10     

15) 4,200 ÷ 70 =      60     

16) 4,500 ÷ 90 =      50     

17) 20 × 60 =    1,200    

18) 3,200 ÷ 40 =      80     

19) 50 × 70 =    3,500    

20) 20 × 50 =    1,000    
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Resolver cada problema.

60 1,000 80 1,000 5,600

1,200 60 1,600 10 600

10 20 50 70 6,400

3,500 80 3,600 10 10

1) 50 × 20 = 1,000 Recordar: 5 × 2 = 10

2) 70 × 80 = 5,600 Recordar: 7 × 8 = 56

3) 500 ÷ 50 = 10 Recordar: 5 ÷ 5 = 1

4) 4,200 ÷ 60 = 70 Recordar: 42 ÷ 6 = 7

5) 200 ÷ 20 = 10 Recordar: 2 ÷ 2 = 1

6) 90 × 40 = 3,600 Recordar: 9 × 4 = 36

7) 300 ÷ 30 = 10 Recordar: 3 ÷ 3 = 1

8) 80 × 20 = 1,600 Recordar: 8 × 2 = 16

9) 4,000 ÷ 50 = 80 Recordar: 40 ÷ 5 = 8

10) 80 × 80 = 6,400 Recordar: 8 × 8 = 64

11) 30 × 20 = 600 Recordar: 3 × 2 = 6

12) 1,800 ÷ 30 = 60 Recordar: 18 ÷ 3 = 6

13) 800 ÷ 40 = 20 Recordar: 8 ÷ 4 = 2

14) 900 ÷ 90 = 10 Recordar: 9 ÷ 9 = 1

15) 4,200 ÷ 70 = 60 Recordar: 42 ÷ 7 = 6

16) 4,500 ÷ 90 = 50 Recordar: 45 ÷ 9 = 5

17) 20 × 60 = 1,200 Recordar: 2 × 6 = 12

18) 3,200 ÷ 40 = 80 Recordar: 32 ÷ 4 = 8

19) 50 × 70 = 3,500 Recordar: 5 × 7 = 35

20) 20 × 50 = 1,000 Recordar: 2 × 5 = 10

Respuestas

1. 1,000

2. 5,600

3. 10

4. 70
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11. 600

12. 60

13. 20
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